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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any five questions: 2x5=10
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a)

b)

d)

What is real wage rate?
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What is homogeneity postulates?
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What is the nature of aggregate supply (AS)

curve according to classical theory?
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State the Cambridge equation.
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e) What is velocity of money?
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f)  Define consumption function.
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g)  Distinguish between gross investment and net
investment.
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h)  Give the definition of MEC.
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Answer any two questions: 5x2=10
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b)
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Show that full employment is automatically

achieved in classical macroeconomic model.
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How do we derive Aggregate demand curve in

Classical model? Explain briefly.
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Explain briefly the concept of QTM with the
help of Fisher equation.
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d)

Discuss briefly Baumol’s inventory theoretic

approach.
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e) Explain the concept of consumption function
Puzzle.
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3.  Answer any one question: 10x1=10
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Determine equilibrium rate of interest in
classical model in terms of lonable fund
approach. How this rate of interest will change
due to increase in government expenditure?
7+3=10
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Explain how Professor Friedman proved the
validates of short run and long run
phenomenon of consumption behaviour with

the help of permanent and transitory income.
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Explain the acceleration principle of

investment with its limitations.
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